


SMS Flatscreen CL ST-

\ /@ Alt.1 for installing cable \

Contents

Pillar

Ceiling plate

Plastic Cap

Tilt

Screws M8x20

R

Nuts

S

I\
g

Screws M5X20

T|e|m|mio|lo|lw|>

Safety Screw

Vesa Plate 75X75 / 100X100

Screws M4X20+M4X10+washer | 4+4+4

Cables

Plastic cover (over cables)

= I I N

Allen Keys

Flat Screen ( Not included )

o

Ceiling Screws(Not included)

Screw Driver (Not included)

%
N
a
N




SMS Flatscreen CL ST

- 8







